Al £ 0 & A

2 AT
M 2ES | HEAM =E
chel: MEs YR XMal (&2 &)
. <]
2AH-FHHM . 2(3H) - HEMY - EBHES 04 AtoH %E& HnszZ
3| 3,268, 141 2,821,627 446,514
ZHE FHEAN EE 275,924 208,083 67,841
MEE HYS el 135,276 148,654 A13,378
(B=)Z"&s NEA 9,530 9,530 0
201 L er2 Y| 9,530 9,530 0
01 AFR2 22l bl 9,530 9,530 0
OEIEE=] 2,530
OXNEsYUN HSHEI| 2E 2,530
=N 33,0009 * 30EFA 990
-cg 154,000 * 10MIE 1,540
O HZHERY MEEEEE It
100,000 * 70H 7,000
()N . HE 3H 2o 41,946 48,590 16,644
101 QI 44| 6,146 12,390 NG, 244
0412 HEZEES 6,146 12,390 NG, 244
OZA 2 XE=YUR 2R Y
2,7902 * 262 » 58 5,563
SRR E=1 = 5,563,000 * 4.5% 251
onEREIRE= 5,563,000 * 1.5% 84
OMATIEAEE 2 5,563,0002 * 1.3% 73
ORDAUBEHERYZ  5,563,0008 * 2.945% 164
or/IIABEHERHZ 64,0002 * 6.55% 11
201 L et 35,320 35,300 20
01 Ar222lHl 35,320 35,300 20
0t 24| 9,500
O2013E S M. HS 2eA K01 9,500
~HEQAA 5,0002 * 1008 500
-HIS HIE 2AA 55,0002 * 1005 5,500
-B2ENR 35,0002 * 1005 3,500
O3 HZEA B2 S
68,0008 » 52 » 60 * 90% 1,620
OMSEDN LKLY, AELSE
23,000,000 * 13 23,000
OMREDAN &I 12,0002 * 1005 1,200
202 04| 480 900 A420
01 2LH0ib 480 900 2420
OZAMAR BSER FAX 0
20,0008 * 2% * 152 x 80% 480
(B AHFP 2 55,900 59,534 23,634
101 @124 ] 9,589 8,559 1,030
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SA:
X ZH
(=N B

£l

o &

SIHEN B
SIHHR XM

r

0 Qf tor
Jor 0

t]

SA-EH . S(3) - NEAY - BHS 0l &k o8 5.0 HlmE2
04 JItH2E2XEE = 9,589 8,559 1,030
OZANEAUEHC L IEZTYAHMEE A2
41,7003 «1H*200 8,340
OSHEE AT RE= 1,249
(OFaFii=l= 8,340,000 *2.945% 246
OAIQAEH 246,000 *6. 55% 17
O=elz 8,340,000%4.5% 376
(@nE=3=4- 8,340,000& *1.5% 126
ONTHEE 8,340,000& 1% 84
OY &SIt 200,000% *25| 14 400
201 Y2 A 42,711 41,475 1,236
01 Ar2 22/l 36,177 35,475 702
OMY NEZLA R HMEZ 4,702
OMYU. HMEZLAM EEHF 7
40,000 *1005 4,000
OSIIEEXN 2=EZ 30,0002 128 360
OE4YL2HeXNE 7 25,0003 255 625
OMAUZRZSE =2 330,000 *53] 1,650
O HHLARWE X &2F 25,000 «100F 2,500
OUCIBHOIESE 20,000& 40024 8,000
OH ARG &2 100,000 *9H «53 4,500
OZMAANRARZ EHdeE
100, 0003 x4 20 8,000
OAZBHMEI 4228 P 1,840
(OF=F3] 33,000% 30 990
ot 170,000 *5JH4 850
02 32224l 6,534 6,000 534
oAU T2 FAHl oaE 6,534
202 o4dl 3,600 4,000 2400
01 =G YI 3,600 4,000 A400
O3 HLPETNH M2 3,600
(o)=aslgee 27,900 31,000 £3,100
201 2er2gy| 26,100 29,000 22,900
01 At 2t2ltl 26,100 29,000 A2,900
ORIIBAMRBEIN R0 60,000% *100% 6,000
OINBIHMRE DN &Y & BEF=Z 04
S 20,100
202 il 1,800 2,000 A200
01 =gl 1,800 2,000 2200
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SA: BH D
MU ZEE WEN Y
ool HEE 3HYR Hel (o9 He)
s PSIE|
SN EBSR(S) - MEAY - BHES 0l &t s RS2
| | CENESIEEEFICEINPEL 1,800
S HAHR Ml 140,648 59,429 81,219
(#z=)2s 228 2oz 100,519 21,880 78,639
201 ger2Z | 26,164 21,880 4,284
01 AR 22lHI 13,993 5,500 8,493
o=l 13,993
OMorBa I L KA S0
10,000& + 1008 1,000
OHegRE 22X 20,0008 * 48 * 123 960
oYL % 200
“HSAANE ALBAEHL 9 35
50,000& * 48 200
Os82eige =2 11,833
~ERSE ARBIILLR
200,000 = 2IHAF * 23] 800
_2EpUNAY B B Y
24423 * 1701 * 2,50004 10,370
-0 gE)| 2lE(RHE)
39,000& = 17CH 663
02 22234l 12,171 16,380 24,209
OSE222HI SWNEZ0H RXES 12,171
OH/MW 366,080& * 28CH 10,251
os/w 19,200,000& = 10% 1,920
405 RHoEFE S| 74,355 0 74,355
01 AL EEFH S 74,355 0 74,355
CEERDIR=EE 74,355
OSE&2 e &3 3,105,000& * 504 15,525
og2En2 SUE 26|
2,330,000& * 20CH 46,600
O2EZ2 2HI 28 AZEY
1,223,000& ~ 10CH 12,230
(HF)Hst2d T2 0|8 24,000 20,200 3,800
201 823l 15,000 20,200 A5,200
01 AbR22tel i 8,400 13,600 25,200
OXum gEDzIy 082
700,000& * 12& 8,400
02 =322l 6,600 6,600 0
oK T2 QXS
550,000& = 12& 6,600
207 00| 9,000 0 9,000
02 & AP Y] 9,000 0 9,000
OHADE ZHAAY D=
9,000,000& = 14! 9,000
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24 3AHD
MM 2HE FHEAN 2
el EYE HLAL2 Hel CER-E))
- . SIE|
2H -3 . A2(3H) - HEMEY - BHES 0f] Ak oH gﬂ@% Hpnsz
(H2)SZHNHI22AAE 25 16, 129 17,349 21,220
201 L2 H| 16,129 17,349 A1,220
01 AL &2/t 3,690 4,100 2410
OFXE QLI 22y 35,0004 1004 350
OFKEH LS| HLEXTY MAEZ 1,465
OFXE D P 75024 %2, 50004 1,875
02 2223l 12,439 13,249 AB10
ORFIDEEZ2IAIAE RX 24 HatEZ 12,439
SHESAAH(3H D) 65,924 60,672 5,252
Jl=2AH| 65,924 60,672 5,252
(H=)J|22H 65,924 60,672 5,252
201 et Y| 27,044 26,652 392
01 At 22| bl 27,044 26,652 392
QJll=gead S35 AHY| 13,220,000 13,220
©JIFEAH (=¥H])
6,0008 * 329 « 802 * 90% 13,824
202 Gl 34,560 29,760 4,800
01 2ol 34,560 29,760 4,800
@JI=adl 20,0002 * 32 x 90 * 60% 34,560
203 YR E=AH| 4,320 4,260 60
04 2EN2ILRFA 4,320 4,260 60
©JIZ= M (300 4) 350,000 * 12& 4,200
O= A 5,0008 * 29 * 122 120
XHAb2t2| 2,881,943 1,878,191 1,003,752
oM 58X Hel 1,635,832 1,522,891 112,941
(HZ=)2S M 22 29 692,298 653,178 39,120
101 e1244] 7,699 20,925 213,226
04 JIZtHNR2AER S 7,699 20,925 213,226
OZS A AEEA 2
46,4602 * 3 x 50 6,969
o=oa28g= 6,969,000 * 4.5% 314
onEzsaRY= 6,969,000 * 1.5% 105
oM AREE S 6,969,000 * 1.3% 91
o=0HLTHIIBLZ 6,969,000 * 2.945% 206
oFRIIUTsERL= 206,000 * 6.55% 14
201 Lt y| 659,617 617,271 42,346
01 AFR221d] 75,180 37,184 37,99
OZSMat2e 22 22,680
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2M: SIS
A THAR2E

gel: SRML 225 Fel (et ®d)
- - d LA
S - BE - BB - NTAY - BAS 0f dr 5 DS
OZsMarze| HEMN =
10,0008 = 802 * 3% 2,400
OSJI0Id & g23+55 3,780
-S)IRSE & 1,2008 = 400EX 480
-Af0E S 10,0008 = 30& X 3,300
O3KMa A& 7ol
100& = 3,00001 * 5& 1,500
OxZEII+==+= 200,000 * 30& Xl 6,000
O Mar =225 600,0008 » 152K 9,000
OHF MY ST ZRUL ST 248
15,0008 = 3,50021 52,500
02 3329l 584,437 580,087 4,350
o=22= % HA 584,437
OMdi=7tl(A2 & ANe=)
188,482,000 * 14 188,482
Ozdlithat SRSH(FZS & LRUY)
334,457,000 * 14 334,457
Ot Ml & ol = Al 2l dl 61,498,000 * 14 61,498
401 AlEHIZ 2T 24,982 14,982 10,000
01 A& 24,982 14,982 10,000
SR SE FRES 7,491,0008 * 24 14,982
OARFEHEH cl28d SA
10,000,0002 * 14 10,000
(Ha)37 M 22 16,553 54,470 A37,917
101 1244l 3,753 14,000 10,247
40|12 HZ2NHSES 3,753 14,000 210,247
OJILHZZNESES 3,753
201 2et24dy| 11,000 32,470 221,470
01 At 22l 11,000 32,470 21,470
OsmMEH 11,000
202 o4l 1,800 8,000 26,200
01 S LHOIH 1,800 8,000 46,200
O=Loitl 1,800
(HR)SSEAMNASET 2L 115,911 115,243 668
201 2ty 115,911 115,243 668
02 3E=48tl 115,911 115,243 668
oNgsFA=SHE 114,911
CHESANEESTH=7 94,115
Ozl as M 20,796
OZ R WA (LB D] & Hot+ERs 1,000
(BR)B2EX EX0HEY 800,000 700,000 100,000
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A S AD
= THarEte
el SRMAL SEF Fel (e &)
SN - EH. S (BH) - NEAMY - ByS Ol abo S i}
401 NEHIZ 20 800,000 700,000 100,000
01 Al 800,000 700,000 100,000
OE MUK W FU=SSEFAMEEXN HE 800,000
(BF)T2MA 22 29 11,070 0 11,070
201 fer2gy| 11,070 0 11,070
01 At 22l 11,070 0 11,070
O3 IMA ZAL 2el 11,070
OSJ0I™ & 23 670
-SJIRsE ¢= 1,200& = 100E Xl 120
-2 2A0AE SII 110,000& = 5E X 550
O&dEIte==E 200,000& = 102X 2,000
O3 M Eg=2 600,000& * 6Z Xl 3,600
Odstae tads=s2 200,000& = 12& 2,400
O&I| e HEs==2 200,000& « 123 2,400
ZEXE 22 1,246,111 355,300 890,811
(EF)2EXE 2l 755,512 232,923 522,589
201 Yere | 174,132 156,303 17,829
01 AR 22/l 2,670 0 2,670
oOZEXtE CIAEIA 60,000& = 274 1,620
OHEZANEE AEH(BUEHL)
350,000& * 30K 1,050
02 3=2<l 171,462 156,303 15,159
03223 ¥ HAl 46,488
OXS Al 170,000% » 34CH 5,780
O ZE=EE 32,213
-5&X 420,000& = 11CH 4,620
-SEX 640,000& = 7CH 4,480
-StE Xt 487,500& * 1504 7,313
-A=Xt 800,000& = 1CH 800
-SEXHSYATH) 600,000& = 25CH 15,000
QeI REZ 5,372
-UEx 5E(¥R) 87,0008 + 304 * 23] 522
-SEXt 160,000& = 701 = 23 2,240
-3t EXt 87,000& + 1500 * 23] 2,610
OHEE N2 2,643
-SEX 27,0003 = 11C0H = 13 297
-SEXt 63,0003 = 6CH * 23] 756
-StE Xt 53,000& = 1404 = 28] 1,484
=P, 53,0008 = 10# * 23l 106
OU(Z)8EHA DB a0l 2
20,000& = 12& = 20 480
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DA
HPA S gat

D pen 2 (ere:@e)
S B SR(EA) - HBAY - BES Of Are o DS
OxtE eyl (+44l, R=JHI) 124,974
Os8xt 3,492,000& = 11CH 38,412
Osgxt 6,487,000& = 6CH 38,922
Os=xt 2,976,000 = 15CH 44,640
Oo==x 3,000,000& = 1CH 3,000
202 o4l 11,880 9,120 2,760
01 =W ol 11,880 9,120 2,760
OLUS NYFE XX S2EIAF 220
30,0008 * 1% = 452] = 80% 11,880
405 XhakF =4l 569,500 67,500 502,000
01 Mt S EFH S 569,500 67,500 502,000
oS gaxy 7 294,500
Ostex(1E) 15,500,000& «19CH 294,500
OSEAl X 7 (HAT 50%) 275,000
OUEHA(45215) 190,000,000& = 1CH 190,000
ONR2E E4NS(DARYESR 2.58)
85,000,000& » 1CH 85,000
(BR)20g SNz 490,599 122,377 368,222
201 eet=2gdl 110,139 122,377 212,238
02 3524l 110,139 122,377 212,238
OXNSIHM % 2E= 12,180
Olegss (440,000 +231,370& )« 1CH 672
Osess (400,0002 +231,370& )«1H 632
Ozess (400,000 +231,370 ) = 1H 632
OZEsE (440,00024+277, 280 ) =2CH 1,435
Oligs (115,000 505,200 ) = 1CH 621
Osgs (115,000 +740,440% ) ~3CH 2,567
Ox8s¥ (65,0002 +204, 0402 )+ 1TH 270
Otgst= (130,000 +504,670& ) «2CH 1,270
Osgst= (34,5002 +568, 2602 )+ 1 TH 603
Oxagst= (28,5002 +148, 7802 ) »4TH 710
OE+=xte (157,500 4676,860% ) +2CH 1,669
oz Jl (157,500 +941,0102 ) 1CH 1,099
OXNSHBAT=Z 1,400
Oss8,58 40,0003 = 10CH*13] 400
Ostg,5= 50,000& *10CH 22 1,000
ONSXHHINEFE =S 60,0003 * 17 CH+23] 2,040
OXESALl Gl&EZ 94,519
oHgss(sgR) 6,860,000 «1CH 6,860
OE8sE(3ER) 6,860,000 = 1CH 6,860
OZEEE(3ER) 6,018,000 = 1CH 6,018
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SM: A
M THaratel
o AE X E 2el ? )
SN EB .S (BH) - MM - By has HDEZ
ONESE(ZR) 3,826,000& 24 7,652
OUgse(ZR) 8,235,000 «1CH 8,235
Osgse(ZR) 1,970
O28EE(ER) 3,178,000& = 1CH 3,178
oUgs2 (&%) 9,883,000 *2CH 19,766
Osg3=2(8R) 5,082,000& = 1CH 5,082
O283E2(ER) 3,413,000 =4 CH 13,652
OE+IH(ER) 5,082,000 «2CH 10, 164
O=IN(ZR) 5,082,000 «1CH 5,082
202 Oidl 12,960 12,960
01 2UWadl 12,960 12,960
o2dE ZUHGEl oaEZ 12,960
308 AHXI I S0I & 137,500 137,500
05 MHXSHZ2EES 137,500 137,500
OSBRI UEHA 2L bl (50%)
95,000,000 *1CH 95,000
OS2 IHZELSI FHI(50%)
42,500,000 = 1CH 42,500
405 RHoEE S HI 230,000 230,000
01 AL EEFHSHI 230,000 230,000
o sEx 24 190,000,000 = 1CH 190,000
OL8SEX 7L 40,000,000& *1CH 40,000
HPE S (3 HD) 44,350 0 44,350
& 44,350 0 44,350
AZ)erEz JIE 44,350 0 44,350
802 BtEZ DI EF 44,350 0 44,350
01 208X ZEEZ3 43,769 0 43,769
OSZUME BHYY LHAL £
34,541,920& 34,542
OLEDEY DMAH(XSUH UK HFAL)
6,986,270& 6,987
©O0| Atere 2,239,510& 2,240
02 Al - ZHIBEEZEES 581 581
OANBIEEMEH 228 SA 581,000& 581
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